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XumMnuecKHe CBOMCTBA

2N,0—2N_+0,

OkucneHue Ha
BO34yxe
2NO +0,—2NO,

O6pa3soBaHne a3oTUCToOMn
KUCIOTbI:

N,0,+H,0—2HNO,

1. 2NO,+H,0 = HNO_+ HNO,
2. 3NO,+H,0 = 2HNO, + NO
3. 4NO,+ 2H,0+ 0,= 4HNO,

Ob6pa3oBaHune a30THOM
KMCNOTbI:

N,0_+H,0—2HNO,

IHonyuenue,
NPUMEHEeHHe

NH,NO,—N,O+2H,O
[MpmMeHeHne — HapKo3.

1) N,+0,—2NO
Cr203
2) 4NH_+50_=4NO+6H,0

OxnaxaeHuun o -36 °C cmecun
okcuaoB asora (1) n (Iv):

NO +NO, —N,0O,

MpuMmeHeHne — Npon3BOACTBO
a30THOW KNCIOTbI.

B nabopatopum —

KadecTBeHHasa peakums Ha

a30THYIO KACIOTY:

Cu+ 4HNO3(KOHLI,) =

Cu(NO,),+ 2NO,+ 2H,0

OypbI ras

2HNO, + PO, = N,O, + 2HPO,
[MpumeHeHne — Npon3BOACTBO
a30THOW KUCIIOThI.



